Honors Algebra 2 — Unit 5 Day #1 Name
Homework — Inverse Functions

1. Antonio’s function machine is shown at the right.
a. Whatis 4(2)?

Ala) =9
b. If 81 came out, what was dropped in?

3=8 x=4

¢. If 8 came out, what was dropped in? Round to two decimal places.
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2. Write the inverse equation for each of the following:
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3. The function f(x) is 'represented by the graph. Draw the graph of its inverse. State the domain and range for
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4. If 10* = 10”, what is true about x and y7
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Homework — Inverse Functions

5. Graph the function. Be sure to include an x/y chart.
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Name

y = (3).r+1 + 2

Describe the transformation in words

Inhanclodod, ona. LA+
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6. Graph the function. Be sure to include an x/y chart. y = —44x - 2 -1
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Solve the following equations.
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8. 4(3x +1)' +8 = —72
[Bx+1) =20

Sxr = 25
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9. 2l4x - 7| +12 =10x - 8

Name

10. 5/4x -2/ - 8 > 12

Jeix-q) = —&3H10 Jgx-a] >4
YxT7=—SxX FID  4X-T=5xD yx-a>4 or 4x-2¢19

gx= /7 —X=-3 7x>6 A e

12 X=3 X>Z X

7 EXTIANeOUS X< £ -2 or X> 3%
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1. Nx + 7 %+ 5 =x 12. 16x* — 625 =0

VX757 = X=S~ (" W}fa?{)/ffkﬁ'ﬁé):ﬁ)
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O = X2y IS e s
O = I -9 Yx-2) S
=9 v X2
X=F o
13. Let f(x) = 4x +1 and g(x) = —-3x* — 5x + 7
a. Find fog(-2) b. Find f{(g(x)) c. Find g(f (x))‘

GFl2)=F2+/047 =5 = 4BXZEX T )+ = ~Z/lpx15x+)
A= 2041 XX 29 ~S7HxH)TT
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d. If g(x) = -5, what is the value(s) of x?

—IN_Bx+T =5
By P 5% F/2=O

302 4 BX PO

(- Xr3) =0
X= g

=3



Honors Algebra 2 — Unit 5 Day #1
Homework — Inverse Functions

Simplify without your calculator.
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19. Rewrite in radical form.
Simplify the radical if necessary.
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20. Rewrite in exponential form.
All variables should be in the numerator
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